208

B4R EIZFEXREDODODQ) / Color Type(End of product number )

BT9=h)LT—4 / Technical Datall

#{TRJLY / Recommended torque

FNA 7T ILEM3x10 / Hexagonal M3-10 : 0.2N*m
BARAYE ' E AM5x8 / Self-tapping pan head M5-8 : 1.5N*m
FDhE R / Other screws : 0.3N*m ~ 0.6N*m

HERINZ / Components

No. 2% / Part name #E / Pcs #E / Material - FEAE / Color-Finish
1 a—+r—7Javy . T ILEH (¥ Ak ADC12 DIR— TSy
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
) AR ) TILEHRLH A6063S-T5 DW=, TSI TINIAIIT
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
3 IL—L . T IVSHRHI# AB063S-T5 DIWIR—  TTZYT T ILIA I T B
Panel support frame Extruded aluminium A6063S-T5 Silver , Black* Anodized with clear coating
4 A% ) T ILSHR A1100P DIWIR—  TZ9Y-TILTA
Panel Aluminium A1100P Silver , Black* Anodized
5 HN— ! T ILSHR A1100P DIWIR—  TZ9Y-TILTAh
Top cover Aluminium A1100P Silver , Black* Anodized
6 THIN— i 7ILEHR A1100P DIN—, TSI FILIA
Bottom cover Aluminium A1100P Silver , Black* Anodized
, a—F—H—F o TPE (T5RKT) TIvY,J— RAE— Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
8 X )oTNURIL 1 PU PAG6 . ABS AWGCH IS0, TL—
Carrying handle Black , Gray
9 ER{FE R (MMM3 x 8) " % ZYTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
0 BAER GREIFUTHRILEMS x 10) o &% =SHEsai—k
Screw (Hexagonal M3-10) Steel Black trivalent chromate
" BAHE R (FR2YE M5 x 8) . &% Z{foOr—k
Screw (Self-tapping pan head M5-8) Steel Trivalent chromate

10

BR AU AT EMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title

A—F—H—RfE YT — 2

Portable Aluminium Instrument Case with Handle

A1
QL

& 5%/ Approved

iR

#%[X]/Checked

T

#[X/Created
A& AUGH99-20-36-10

FIE /Product number

RE/Scale

YERZ B /Date 2025/06/26

R— /Page

177

8% / Code | 7JLE4—X / Aluminium enclosure a—4—H—FK / Corner guard X2 1\UR L / Carrying handle
S B B 2 )LsS— / Silver 735v9% / Black 75v% / Black
SGB < )LsN— / Silver 4'L— / Gray 75v% / Black
SNB 2 )LiN— / Silver FAE— / Navy 75v% / Black
SR B 2 )LsX— / Silver LYk / Red 75v% / Black
SBG 2 JLiS— / Silver 25v% / Black JL— / Gray
SGG < )LsN— / Silver 4S'L— / Gray J'L— / Gray
SN G < )LsN— / Silver *AE— / Navy J'L— / Gray
SR G < )L1N— / Silver LYK / Red 4'L— / Gray
B BB 759 / Black 7579 / Black 7597 / Black
B GB 75wv% / Black J'L— / Gray 75v% / Black
B NB 7594 / Black FAE— / Navy 75v% / Black
B RB 735v% / Black LYE / Red T5v7% / Black

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




200+0.5 (55— R4 / External)

R24

B-B(1:55)
360+0.5 (7 —RA4 2 / External)

F view

153

50

R52

C view

25

A-A(1:55)
C-C(1:55)

© ™

< =)

™ —

7
92
77
E view B view
368
g P 4
D D
E
s
17
Lu
~
»
_’
EoN
)
&
]
o
+
o
>
4/ Title
TAKACHI| X2 hFERIE JI—F—H—FfFv )95 —X @ G
TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. Portable Aluminium Instrument Case with Handle
& 5%/ Approved #% X/ Checked #I[X]/Created FIF /Product number RE/Scale
1:55
iR e A AUGH99-20-36- 01 sy
{ER B /Date 2025/06/26 2 /1

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {l#® / C Frame

310 225
[ep)
(s
™
[ep)
3 ~
oy (] O O Q ) O O O O
25
@
[ap)
o=
[9p)
28 127.5 28 4-255
«
- & &
5 2-M3FHS9R o
2-M3 Countersunk
¥ RXEEE R / Same on the other side.
M@ / Front side ZEm / Back side
D {l#% / D Frame
fovao®)
==
k\ Py
B A\2
KM / Front side ZZM / Back side
4/ Title A —
A ==
TAKACHI| #=X2u4hFERTE IR O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7%/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
1:2.5
iR o FiE:N p— Y
H99 - D360 e B /Date 2025/06/10 3 /1
AREOEEHEFMASHINTFERTEITRELET ., / Copyright (C) TAKAGHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




22.5

150

2-M3FH SR
2-M3 Countersunk

14

4.5

1.6

29

3.3

147K / Total 4 pieces

4/ Title
TAKACHI CRH AN TFERT _ o |
wagisrrERTE | s =
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:1
iR : e R—
W200 {ERX B /Date 2024/05/15 4 /17

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /NARJL / A Panel

150

88

M / Front side

B /\AJL / B Panel

B~k / Max dim. 142 £ 0.5

M@ / Front side

A3~k / Max dim. 80 £ 0.3

fREE—HA

Surface protective film side

REE—HA

Surface protective film side

1.5

ZEM / Back side

M / Back side

4/ Title
TAKACHI| X2 hFERIE ISR () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
G/ A S I [ ] RE/Scale
8/ Approved #%[X/Checked &[] /Created I Z /Product number
1:2
iR £ fiE) A ~R—/Page
H99 — W200 {ERX B /Date 2024/07/25 5 /17

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

3494

@ / Front side

330

189.4

170

\/

B#~TiE / Max dim. 153+0.5

4-24.5

H¥~ti% / Max dim. 313+0.5

fREES—HA

Surface protective film side

ZEM / Back side

mmf/Title
TAKACHI| BASHIAFEHRIE HN— (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
= — — RE/Scale
K 8/ Approved 1] /Checked #1[X]/Created R /Product number
1:2.5
iR £ 4t R—/Page
W200 - D360 {ERX B /Date 2022/11/16 6 /7

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

3494

@ / Front side

330

189.4

170

\/

B#~TiE / Max dim. 153+0.5

4-24.5

H¥~ti% / Max dim. 313+0.5

fREES—HA

Surface protective film side

ZEM / Back side

4/ Title
TAKACHI| BASHIAFEHRIE THhi— (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:2.5
iR £ 4t R—/Page
W200 - D360 {ERX B /Date 2022/11/16 777

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




